Algebra 1
7-5 Slope-Intercept Form (y=mx+b)

Using the slope, fill in the rest of the table. Plot the points and graph the line (please use a ruler). From the graph, find the y-intercept of the equation.
1) slope (m) = 3
y-int (b) = 
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Write the equation to the line (y=mx+b)
3) slope = 
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Write the equation to the line (y=mx+b)
2) slope = -3
y-int (b) = 
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Write the equation to the line (y=mx+b)
4) slope = 
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Write the equation to the line (y=mx+b)
Graph the equations using the y-intercept and the slope.

5) y = 
[image: image7.wmf]5

4

5

-

+

x


[image: image11.emf]


6) y = 
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Find the slope (m) and the y-intercept (b) from the following equations. Remember, the equation must be in y =mx+b form.
7) y = 5x – 10  
8) y = -7x + 3
9) y = 43 – 13x

10) 4y = 20x + 28
11) -3x + y = 8
12) y = 
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Find the slope of both lines. Decide whether the graphs of the two equations are parallel lines. (Remember, you are comparing the slopes of the lines).
13) y = x+ 5 ; y = -12 + x
14) y = 4x – 6 ; y = 
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